## **Bid Proof**

## Bid Number: 10009552-11-Z

**Bid Title:** Ground Squirrels, Gophers and Rodents Control Services for the Public Utilities Department, Water Operations Division

	AGRICULTURAL PEST CONTROL Vendor ID: TEMP-AGRICUL				Days ARO: Opt To Renew Pct. (%	N/A ): N/A		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	NN/NA 0
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product I	Number	Quantity	Unit Price	Extension	Tax	Final
1	El Capitan Dam 16852 El Monte Rd, Lakeside Ca.92040 16 Bait Stations Located at Dam Contact Info: 619-668-2014						24 EA	\$85.00	\$2,040.00	\$0.00	\$2,040.00
2	Moreno Dam 2550 Lake Moreno Dr, Campo Ca 91906 12 Bait Stations Located at Dam Contact Info: 619-668-2014						24 EA	\$95.00	\$2,280.00	\$0.00	\$2,280.00
3	Chollas Dam 6350 College Grove Dr, San Diego 92115 10 Bait Stations Located at Dam Contact Info: 619-668-2014						24 EA	\$85.00	\$2,040.00	\$0.00	\$2,040.00
4	Murray Reservoir 5540 Kiowa Dr. La Mesa 91942 Control Located at Boat Docks, Concession and Restrooms Contact Info: 619-668-2014						24 EA	\$85.00	\$2,040.00	\$0.00	\$2,040.00
5	Miramar Reservoir 10710 Scripps Lake Dr. San Diego Control Located at Boat Docks, Concession and Restrooms Contact Info: 619-668-2014						24 EA	\$85.00	\$2,040.00	\$0.00	\$2,040.00

- Subtotals for AGRICULTURAL PEST CONTROL:\$10,440.00\$0.00\$10,440.00
  - Miscellaneous Charges: \$0.00
    - Freight: \$0.00
  - Extraordinary Labor 0 hours @ \$0.00/hour: \$0.00
  - Grand Total for AGRICULTURAL PEST CONTROL: \$10,440.00
    - Final Price (w/ Discount): \$10,440.00

	ECOLAB INC Vendor ID: TEMP-ECOLAB				Days ARO: Opt To Renew		/A /A		ferms - Days Pct. (%):	: 30 0.00	Addendum: N/ Tax Rate Pct (%): 0	Ά
Item No.	Item Description	Stock Number	NB NR	Manufacturer		roduct Numb		ity l	Jnit Price	Extension	Тах	Final
1	El Capitan Dam 16852 El Monte Rd, Lakeside Ca.92040 16 Bait Stations Located at Dam Contact Info: 619-668-2014						24	EA	\$235.00	\$5,640.00	\$0.00	\$5,640.00
2	Moreno Dam 2550 Lake Moreno Dr, Campo Ca 91906 12 Bait Stations Located at Dam Contact Info: 619-668-2014						24	EA	\$235.00	\$5,640.00	\$0.00	\$5,640.00
3	Chollas Dam 6350 College Grove Dr, San Diego 92115 10 Bait Stations Located at Dam Contact Info: 619-668-2014						24	EA	\$235.00	\$5,640.00	\$0.00	\$5,640.00
4	Murray Reservoir 5540 Kiowa Dr. La Mesa 91942 Control Located at Boat Docks, Concession and Restrooms Contact Info: 619-668-2014						24	EA	\$235.00	\$5,640.00	\$0.00	\$5,640.00
5	Miramar Reservoir 10710 Scripps Lake Dr. San Diego Control Located at Boat Docks, Concession and Restrooms Contact Info: 619-668-2014						24	EA	\$235.00	\$5,640.00	\$0.00	\$5,640.00
							Subtota	ls for ECOL	AB INC:	\$28,200.00	\$0.00	\$28,200.00

Miscellaneous Charges:	\$0.00
------------------------	--------

- Freight: \$0.00
- Extraordinary Labor 0 hours @ \$0.00/hour: \$0.00
  - Grand Total for ECOLAB INC: \$28,200.00
  - Final Price (w/ Discount): \$28,200.00

	PESTMASTER SERVICES				Days ARO:	N/A		Disc Terms - Days:	30	Addendum:	N/ATT		
	Vendor ID: TEMP-PESTMAS		Opt To Renew Pct. (%): $ N/A$					Disc Pct. (%): 0.00			Tax Rate Pct (%): $0$		
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Prod	uct Number	Quantity	Unit Price	Extension	Тах	Final		
1	El Capitan Dam 16852 El Monte Rd, Lakeside Ca.92040 16 Bait Stations Located at Dam Contact Info: 619-668-2014						24 EA	\$106.20	\$2,548.80	\$0.00	\$2,548.80		
2	Moreno Dam 2550 Lake Moreno Dr, Campo Ca 91906 12 Bait Stations Located at Dam Contact Info: 619-668-2014						24 EA	\$111.00	\$2,664.00	\$0.00	\$2,664.00		
3	Chollas Dam 6350 College Grove Dr, San Diego 92115 10 Bait Stations Located at Dam Contact Info: 619-668-2014						24 EA	\$81.40	\$1,953.60	\$0.00	\$1,953.60		
4	Murray Reservoir 5540 Kiowa Dr. La Mesa 91942 Control Located at Boat Docks, Concession and Restrooms Contact Info: 619-668-2014						24 EA	\$81.40	\$1,953.60	\$0.00	\$1,953.60		
5	Miramar Reservoir 10710 Scripps Lake Dr. San Diego Control Located at Boat Docks, Concession and Restrooms Contact Info: 619-668-2014						24 EA	\$81.40	\$1,953.60	\$0.00	\$1,953.60		
						Subtotal	s for PESTMAST	ER SERVICES:	\$11,073.60	\$0.00	\$11,073.60		
									Miscellaneou	is Charges:	\$0.00		
										Freight:	\$0.00		

- Extraordinary Labor 0 hours @ \$0.00/hour: \$0.00
- Grand Total for PESTMASTER SERVICES: \$11,073.60
  - Final Price (w/ Discount): \$11,073.60

<b>&gt;&gt;&gt;</b>	<b>QUALITY COMMERCIAL PEST CONTROL, INC</b> Vendor ID: TEMP-QUALITY				Days ARO: Opt To Renew Pct. (%)	N/A		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/ATT
Item No.	-	Stock Number	NB NR	Manufacturer	Product N		Quantity	Unit Price	Extension	Tax Rate Pct (%):	Final
1	El Capitan Dam 16852 El Monte Rd, Lakeside Ca.92040 16 Bait Stations Located at Dam Contact Info: 619-668-2014						24 EA	\$75.00	\$1,800.00	\$0.00	\$1,800.00
2	Moreno Dam 2550 Lake Moreno Dr, Campo Ca 91906 12 Bait Stations Located at Dam Contact Info: 619-668-2014						24 EA	\$75.00	\$1,800.00	\$0.00	\$1,800.00
3	Chollas Dam 6350 College Grove Dr, San Diego 92115 10 Bait Stations Located at Dam Contact Info: 619-668-2014						24 EA	\$75.00	\$1,800.00	\$0.00	\$1,800.00
4	Murray Reservoir 5540 Kiowa Dr. La Mesa 91942 Control Located at Boat Docks, Concession and Restrooms Contact Info: 619-668-2014						24 EA	\$75.00	\$1,800.00	\$0.00	\$1,800.00
5	Miramar Reservoir 10710 Scripps Lake Dr. San Diego Control Located at Boat Docks, Concession and Restrooms Contact Info: 619-668-2014						24 EA	\$75.00	\$1,800.00	\$0.00	\$1,800.00
					Subtotals for QUA		RCIAL PEST C	ONTROL, INC:	\$9,000.00	\$0.00	\$9,000.00
									Miscellaneou	is Charges:	\$0.00
										Freight:	\$0.00
								Extraordina	ary Labor - 0 hours @ S	\$0.00/hour:	\$0.00
						Gra	nd Total for C	UALITY COMME	RCIAL PEST CONTR	ROL, INC:	\$9,000.00

Final Price (w/ Discount): \$9,000.00

	WILDLIFE CONTROL SERVICE, INC Vendor ID: TEMP-WILDLIF				ys ARO: ot To Renew Pct	N/A (%): N/A		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	N/ATT 0
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Produ	ct Number	Quantity	Unit Price	Extension	Тах	Final
1	El Capitan Dam 16852 El Monte Rd, Lakeside Ca.92040 16 Bait Stations Located at Dam Contact Info: 619-668-2014						24 EA	\$115.00	\$2,760.00	\$0.00	\$2,760.00
2	Moreno Dam 2550 Lake Moreno Dr, Campo Ca 91906 12 Bait Stations Located at Dam Contact Info: 619-668-2014						24 EA	\$100.00	\$2,400.00	\$0.00	\$2,400.00
3	Chollas Dam 6350 College Grove Dr, San Diego 92115 10 Bait Stations Located at Dam Contact Info: 619-668-2014						24 EA	\$100.00	\$2,400.00	\$0.00	\$2,400.00
4	Murray Reservoir 5540 Kiowa Dr. La Mesa 91942 Control Located at Boat Docks, Concession and Restrooms Contact Info: 619-668-2014						24 EA	\$100.00	\$2,400.00	\$0.00	\$2,400.00
5	Miramar Reservoir 10710 Scripps Lake Dr. San Diego Control Located at Boat Docks, Concession and Restrooms Contact Info: 619-668-2014						24 EA	\$100.00	\$2,400.00	\$0.00	\$2,400.00
					Subto	tals for WILDL	IFE CONTROL S	SERVICE, INC:	\$12,360.00	\$0.00	\$12,360.00
									Miscellaneou	is Charges:	\$0.00
										Freight:	\$0.00

- Extraordinary Labor 0 hours @ \$0.00/hour: \$0.00
- Grand Total for WILDLIFE CONTROL SERVICE, INC: \$12,360.00
  - Final Price (w/ Discount): \$12,360.00